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Math 165 Section 5915 FEram 3 November 30, 2010

Name:

Follow the instructions for each question and show enough of your work so that I can follow
your thought process. If I can’t read your work or answer, you will receive little or no credit!
There are 12 problems each of them worth 5 points for a total of 60 points. There are also
2 bonus problems at the end both worth 3 points.




For problems 1 - 4, evaluate the indefinite or definite integrals.
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5. Let f(x) be a continuous function. Iff f(z) dz = 30 , then evaluate f 2 (:c“) dz .
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8. Using the properties of integrals, prove the following estimate: / r’sinz dr < By *
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For problems 9 and 10, find the area between the indicated curves.

9. The curves y = 2 and y = 4z — z2.
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10. The curves y =sinx, y=z, z = 7 and z =7.
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11. Find the volume of the solid obtained by rotating the region bounded by y = = and
y = /r about the line r = 2. (Set up the integral only, DO NOT evaluate it.)
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12. Find two positive numbers such that the sum of the first number and four times the
second number is 104 and the product of the numbers is as large as possible.
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13. (BONUS) Evaluate the following sum lim 3 -

5 (Hint: Use the definition of the
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integral and left endpoint a = 0. ) '
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14. (BONUS) Find the following limit ’Iin?) - V1+t4dt. (Hint: Use the Fundamental
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Theorem of Calculus.)
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